ONE TWO ACADEMY FORTNIGHT EXAM

HSC 1ST YEAR MATH TOTAL:- 50
Choose the correct answer:- 10x1=10
. A/l—cos2x
Im—
1 =0 X
Answer any three of the following:- 3x5=15 (Ho @)1 (3)V2 (4) does not exist
lim sin 0
-0 /sin @
1) Evaluate : lim 4\/5_(C()S'\‘+Sin x) W @ oe we
x )i | —sin2x
2) Evaluate the following limit. ;1 sin x(1—cosx) lim e -1
x—0 x3 3 x>0 X N
3) provethat [im Y _ (1)1 Q2)e (3) L (4)0
00 9 e
tanx X
. 1 2 15 lim&——¢ =
4) Show that lim x| | —|+| — |+ -+ =120. 4 50 tan x— x
x—0' '\‘ .\‘ '\‘
1
(1 (2)e (3) = 4)0
lim X —a na""' s i l
e . X x 1S irrationa
o) Provethat '7W X—a g5 Let /iR >R be defined by f(x):{ o then f'is
- ' ~16 I—x x 1srational
[im ———
S . . 1 .
and hence evaluate x2 x—2 (1) discontinuous at x = 5 (2) continuous at x :%
(3) continuous everywhere (4) discontinuous everywhere

Assume the function f is left- continuous but not continuous at x = 2
and right continuous at x = 3. Identify the graph of f
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The value of lim x

(1) -1

. / s
" 3 O
X e
| 3 4 5 X
] | 3 4 5 *
—| x|, where & is an integer is
x—k
2)1 (3)0 (4)2
|2x—3] .
s

8 At x =% the function f(x)=

(1) continuous

2x—3

(2) discontinuous (3) differentiable (4) non-zero

9 im& =0
x—0 X
a b a
(1) log ab (2) log (—) (3) log (—) 4) —
b a b
l' 8,Y _4.\' - 2.\' + l.\’ N
10 "% X2 -
(1)2log2 (2) 2(log2)’ (3) log 2 (4)3log2

111f f(x)=x(—l)‘
(H-1

d

, Xx<0, then the value of lim f(x) is equal to
x>0

(2)0 (3)2 (4) 4

Answer any five of the following:- 5 x4 = 20

fim %81
1 4 x -3

=
=
-

. (2+x)y =27
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X +x
x>0 x° —3x" +1

. tan2x
41im
x—0 X
51im2 -3

x—0 X

One Two academy
sin(a+ x)—sin(a —x)

Iim
6 x—0 X

lim \sz +a2 —da
T e b

8 liml—c?sx

x—0 X

Answer any five of the following:- 5 x4 = 20

1 Find the constant b that makes g continuous on (—0,0).

x’-b" if x<4

X)=
2 & {bx+20 if x>4

3 If fand g are continuous functions with f{3) =5
and lim[2 f(x)—g(x)|=4. find g(3)

4

- ifx=l
e

X a,
5 Evaluate : 1im(x+2j .

XL "\“ —

4 For what value of «vis this function = fix) = continuous at x = 1?

if x=1

Prove that limsinx=0. One Two academy

x—0

7 Calculate lim(x* —3)".
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